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2XE TH (T 2) 7|8XHE TH(H: )
)=a128 20,000,000 M3 500,000
SHOEtT AMP 70 EE23 5,000,000 Qar 500,000
zga 4,510,000 Ha 500,000
=04 4,260,000 2718 500,000
sl 3,740,000 01718 500,000
(F)SYAXIL| o N 3,000,000 RIE|St0] 500,000
M 2,990,000 cpsi=! 500,000
w1 2,218,500 St 500,000
(F)O|HSEAAH 2,000,000 2245 500,000
HIG Al 2,000,000 1zd 500,000
LYz 1,905,300 ZIHot 500,000
M5 gt 1,000,000 AOIX} 500,000
SX|ZFstnt sty s 1,000,000 npsE 495,000
S 939,600 HH XH 2t 362,000
ol 740,000 LM 306,000
StsE 500,000 U= 224,300
3y 500,000 Ofl A15H 200,000
HH 3 Xl 500,000 25 194,500
o|Z Ol 2HIo|Z T 500,000 8r2 Al Akotat 100,000
0|X7| 500,000 QELIIY(BSEHRn 100,000
2XE 500,000 MEHEHHAOA 100,000
A M7 500,000 S5 100,000




T 75t WY S TMOR ZAEZLICH
= 712k 2024 5E

7|7 XS SH(E:2) 7|7 RS SH(E:2)
oldZ 100,000 AR (ESSYUTAAE) 50,000
UMY & 100,000 LI MRS SYUTLAAR]) 50,000
Xl 2 100,000 SEUM 50,000
TTEAt 100,000 S 50,000
FEEA=OAY 100,000 Lot 50,000
i 100,000 YA 50,000
orSotezt|(dUR) 100,000 U3g 30,000
dg=E 97,000 SrE Xt 30,000
Z 7 91,600 Tt 30,000
1FH 81,600 des 30,000
2t 50,000 Faraly 30,000
AXH|0| 72| (BX|H EZOLIHE YT 50,000 =39% 30,000
= AIHEZE0HE 50,000 SIS 30,000
HIZIZE(HHS) 50,000 =82 30,000
SY7|=(A=0 22 50,000 R 20,000
SEOA Y2 50,000 gset 10,000
HEs 50,000 d49 10,000
g24 50,000 04 10,000
S 50,000 goi4 10,000
ez 50,000 HfAZI 10,000
g1 50,000 HE= 10,000




